> s5 := std_sum(5);

> f := piecewise(x < 0, -1, 1);
-1 x <0
= . @
1 otherwise
> plot(f,x=-0.5..0.5);
1
0.5 1
I ' I I I
-04 -0.2 0, 0.2 04
X
-0.5
=> b := proc(n)
2* (1-(-1)”n)/ (Pi*n)
| end proc:
> map (b, [seqg(t,t=1..20)]1);
i’ O’ 4 b O) 4 b 09 4 b 0’ 4 b b 4 b b 4 b O’ 4 b b 4 b 09 4 b (2)
i R 5w Tr or Ilm 13¢ 15m 17w 19w
B std_sum := proc(N)
local out, k;
out := 0;
for k from 1 to N do
out := out + b(k)*sin(2*Pi*k*x)
end do;
out
|  end proc:



5 4sin(2mx) L4 sin( 6 mx) L4 sin( 10 7wx)

T 3 T 5 T
[> s9 := std _sum(9) ;
0= 4sin(2mx) +i sin( 6 mx) +i sin( 10 7w x) +i sin( 14 7wx)
T 3 T 5 T 7 s
4 sin(18mx)

9 T
> s13 := std_sum(13);

4sin(2mx) | 4 sin(6mx) | 4 sin(l0mx) | 4 sin(147x)

si3=——m =2t 2 SRR 2 SR 2
T 3 T 5 T 7 T
L4 sin(18 x) L4 sin(22 x) L4 sin(26 1 x)
9 T 11 T 13 T

=> s29 := std sum(29);
4sin(2nx) | 4 sin(6mx) |, 4 sin(10mx) | 4 sin(147x)

> plot({f,s5,s9,s13,s29},x=-0.5..0.5) ;

s20=—m==2 g 2 m 2 G 2 S 2y 2
T 3 T 5 T 7 T

4 sin(18mx) 4 sin(22x) 4 sin(26 mx) 4 sin(30mx)
s 2 ameend) S ey S ey
9 . 11 . 13 - 15 -
4 sin(34mx) L4 sin(38 mx) L4 sin(42 mx) L4 sin (46 mx)
17 . 19 . 21 . 23 .
4 sin(50 wx) L4 sin(54 mx) L4 sin(58 mx)
25 T 27 T 29 n

©))

(C))

©))
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X
-0.5
=> cesaro_sum := proc(N)
local out, k;
out := 0;
for k from 1 to N-1 do
out := out + ((N-k)/N)*b(k)*sin (2*Pi*k*x)
end do;
out
| end proc:
> sigma6 := cesaro_sum(6) ;
o5 — 10 sin(2 1 x) L2 sin(6 T x) L2 sin(10 T x) )
3 T 3 T 15 T
> sigmal0 := cesaro_sum(10);
510~ 18 sin(2 wx) L 14 sin(6 Tx) L2 sin(10 7wx) L6 sin(14 wx) ®)
5 T 15 T 5 T 35 T
2 sin(18mx)
45 T
> sigmal4 := cesaro_sum(14);

®




26 sin(2mwx) L2 sin(6 x) L 18 sin(10 T x) 42 sin(14 wx)

ol T 21 g 35 n 7 x
10 sin(18mx) L6 sin(22 1 x) L2 sin(26 1 x)
63 T 77 T 91 T
=> sigma30 := cesaro_sum(30);
530 = 38 sin(2 mwx) L6 sin( 6 mx) L2 sin(10 x) L 46 sin( 14 7x)
15 . 5 . 3 . 105 .
14 sin(18mx) L 38 sin(22 mx) L 34 sin(26 Tx) 42 sin(30 7wx)
45 . 165 . 195 . 15 .
L 26 sin(34 wx) L 22 sin(38 mx) L2 sin(42 mx) L 14 sin(46 mx)
255 . 285 . 35 . 345 .
2 sin(50mx) L2 sin(54 x) 42 sin(58 x)
75 T 135 n 435 T

=> plot({f,sigma6,sigmall,sigmal4,sigma30},x=-0.5..0.5);
1
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